25. Do the sums and find the country where English is one of the official

languages.

1. Ten divided by two is __. 12| 1 |1000] L |60 | T |17 )
2. Fifty times two is___. 11/ ¢} 5 | I'|1I00|N |7 | P
3. Twenty-four minus eight is . 16| D| 20 |[Y|[35 | H|O0]A
4. Five plus seven is .

5. Seventeen multiplied by zerois ___.

A) Japan. B) Haiti. B) China. ) India. A) Chile .

26. What are the next three letters in the following sequence? There are twelve
oftheminayear:J,F,M,A, M, J,J,A, , , D.
A)J, F, M. B)S, U, N. B) A, J, . r)s,o,N. A) M, A, M.

27. Unscramble the words and decide which group they belong to.
NEWSDE LDOAPN DNCAAA NRCEAF
A) cities. b ) mountains. B) rivers. ) lakes. A) countries.

28. Mary has four daughters, and each of her daughters has a brother. How
many children does Mary have?
A) five. b) eight. B) four. ) one. A) none.

29. The weather forecast for tomorrow says the weather will change for the
better. Here are people’s comments on it. Find the comment that is NOT suitable
to the forecast:

A) Let’s hope the forecast will work well.
B) It will be a perfect day to go to the beach.
B) We will have to delay the picnic then.

) Great! We can go fishing! A) What good news!

30. Put all people in order of their height starting with the tallest person: John
is taller than Jason. Rebecca is taller than Jason. Sarah is taller than John. Beverly
is shorter than Rebecca and taller than Sarah.

A) Rebecca, Beverly, Sarah, John and Jason.
B) John, Sarah, Rebecca, Beverly and Jason.
B) Rebecca, Beverly, Jason, Sarah and John.
) Beverly, Sarah, Jason, Rebecca and John.
A) Jason, Beverly, John, Sarah and Rebecca.
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Complete the sentences:
1. There was a lovely fire burning inthe ____ .
A) chimney.  bB)fireplace.  B) central heating. ) radiator. /) stove.

2. Jim put some oil into the and cooked the eggs in it.
A) frying pan. B) cooker. B) bowl. [) saucer. A) plate.
3. Thekilt is .

A) shorts. B) a shirt. B) a skirt. I) a pair of trousers. A) a dress.

4. On the whole the climate of Great Britain is
A) dry. B) mild. B) frosty. r) hot. A) tropical.

Answer the questions:
5. What is the popular food used to carve jack-o-lanterns during Halloween?
A) turnip. B) pumpkin. B) turkey. ) pudding. A) cottage pie.

6. What is the sweet substance made by bees?
A)jam. B) beef. B) sweets. ) sugar. A) honey.



7. Which country has the Union Jack on its flag?
A) Canada. bB)Italy. B)the USA. [)India. [) Australia.

8. This country is located in Europe, at the northern end of Great Britain. It is a
part of the United Kingdom and shares a border with England.
A) England. bB)Scotland. B) Wales. [)the USA. [) Northern Ireland.

9. Which country do the characters of the books “Pippi Longstocking”,
“Karlsson on the Roof”, “Emil i Ldnneberga” come from?
A) Norway. B)the Netherlands. B)Sweden. [)Finland. /4)the UK.

10. What do cynologists do? They
A) watch new films. B) set prices at shops.  B) tame dogs.
) predict future. A) study stars.

11. Which way to invite your friend from the UK to Belarus will not work?
A) to call him on the phone. B) to send him an e-mail.
B) to send him a post card. ) to send a message on Facebook.
A) to use a magic wand.

12. Which food name won’t you find on the menu of a local café in the UK?
A) French fries. B) crisps. B) Yorkshire pudding.
) roast turkey. A) fish and chips.

13. What are “the three Rs” that can help nature?
A) repair, redo, replace.  B) reduce, reuse, recycle.  B) read, repeat, rhyme.
) run, rise, renew. A) rare, rebuild, relieve.

14. Which noun can be used with all these words: rotten, poached, Easter,
scrambled?

A) cards. B) bunnies. B) apples. T) eggs. A) hotels.
15. Match the words with their definitions:

1) tray a) You can pour water from this.

2) fork b) You can suck drinks through this.

3) jug ¢) You put food on this and eat from it.

4) straw d) You can carry food to your mouth with this.

5) plate e) You can carry things on this.

A) 1d2b3c4a5e. b) 1e2d3adb5c. B) 1e2b3a4d5c. M) 1b2d3c4a5e. 4) 1c2d3adb5e.

Make sentences 16-20 grammatically correct:
16. Each of has a new bulb.
A) those lamp. B)these lamps. B) this lamps. [F)these lamp. A) this lamp.

17. My became the prize winner of the International Math Olympiad.
A) son’s friend brother. B) son’s friend’s brother. B) son friend’s brother.
) son’s friend’s brother’s. [4) son friend brother .

18. London receives ... a year from all over the world.

A) 23 million visitors. B) 23 million of visitors. B) 23 millions visitors.
) 23 millions of visitors. A) 23 million visitor.
19. That book is of all my books. You can hardly find a book that is

than it.
A) the most boring, the worst. ) more boring, worse. B) more boring, the best.
) the most boring, worse.  [) more boring, better.

20. The city is popular with tourists. However, why are there only____ people on
the streets now?
A) few. B) a few. B) a little. T) little. A) lots of.

21. A girl buys a dozen eggs and, on the way home, all but seven break. How
many eggs are left unbroken?
A)12. B)5. B)7. ro. ) 4.

22. Match the Disney characters with the problems they have to solve:

a) ! have no idea where | am. Will | ever get back home? 1. Ariel
b) If the shoe fits, | might just be lucky. 2. Pinocchio
c) ! love being a kid. | worry about the man who keeps trying to 3. Cinderella

capture me. 4. Peter Pan
d) / want to explore a land, but | cannot live in the world of people. 5. Alice

e) | want more than anything to be alive.

A) 1d2b3a4c5e. B) 1e2c3b4d5a.

r) 1d2e3b4c5a. A) 1e2d3b4c5a.

B) 1a2e3b4c5d.

23. Mike’s sweater is bigger than Liz's. Kate’s sweater is smaller than Liz's.
Polly’s sweater is smaller than Mike’s but bigger than Kate’s. Sam’s sweater is
smaller than Polly’s but bigger than Liz’s. Who has got the smallest sweater?

A) Kate. B) Mike. B) Polly. r) Sam. A) Liz.

24. Jane and her friend donated (gave away) money to a charity on Earth Day.
Jane donated £14 and Sally donated £23. Sally's little brother Billy donated £47.
How much money did the three children donate?

A) £94. b) £80. B) £83. r) £85. A) £84.



